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R ; 12 Had CVEEIEL s
H25FE Y = A5 FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (/nt) (%)
B3 -1 TP 2 1 473 202, 000 202, 000 0.0[&FFIHT5 — 6
kB — 2 FAELERT 1 97 7 238, 000 238, 000 0.0|PHEERT 1 9— 16
E23 - 3 ZH2TH150% 197, 000 197, 000 0.0[ZH2—-12—18
S — 4 BET1ITH922%202 106, 000 106, 000 0.0[&0T1—17—23
b 3 — 5 PE6TH1180%2 54 89, 800 89, 800 0.01)56—-—5—37
£ — 6 T 6% 1 192, 000 192, 000 0.0|#xHT 8 — 3
E3 — 7 WA TR3ITH200%368 119, 000 118, 000 0.8|Wi% k3 —-14—16
3 — 8 2 TH20%S 91, 100 91, 100 0.0
£ -9 HMzE116%26 109, 000 108, 000 0.9 FzfE14—13
% — 10[3% 10 — 4|RABROMETARO3276%F101 56, 800 57,100 |A 0.5
S — 11 W47TTHS555 7% 103, 000 103, 000 0.0[#fiza7—25—33
S — 12 1 TH13647%3 128, 000 128, 000 0.0l k+1—-—11—25
b 3 — 13 WA2 TH206%F1 138, 000 138, 000 0.0[4dt2 —8—8
E23 — 14 W1 TH36%S5 154, 000 154, 000 0.0/%®M1—9—3
S — 15 HEBELE3TH741%&16 86, 300 86,800 |A 0.6[FH FE3—24—10
S — 16 WA)N1TH671%1 110, 000 110, 000 0.0[4)I1—20—21
3 — 17 E¥%6 8%5 106, 000 107,000 (A 0.9|HH¥E5 — 3
E+3 — 18 FF2TH116%S3 123, 000 123, 000 0.0[*Ffn2—-5—6
% —19 TKMH539%6 73, 900 76,000 (A 2.8
£ — 20 FERE1765FK176 77, 500 80,300 |A 3.5
E23 — 21 KAHT1 3 8% 4 180, 000 180, 000 0.0[KkEIT2—-37
E+3 — 22[3% 7— 1IEFE4THEHS550%3 141, 000 141, 000 0.0|#FfF4—7—45
% — 23|k 7T— 2]HET2THT76%&17 125, 000 126,000 (A 0.8
S — 24|% 10 — 1|pEZFFIETO032%F2 14+ 48, 800 49,300 |A 1.0
S — 25| 10 — 2| KEFENIEF9 6 5%&F2 2 42,900 43,500 |A 1.4
S — 26|3% 10 — 3|fEM,yr AT/ HFHE381%&1 1 67, 200 67,500 (A 0.4
k5 5— 1 ARET2 TH6%S8 1, 380, 000 | 1,390,000 |A 0.7
S 5— 2 TEEET 1 4% 1 24k 159, 000 160,000 (A 0.6|35F0T1 4 —1 4
* 3 5— 3 NEFHT 4 7% 3 631, 000 640,000 (A 1.4
23 5— 4 A@10THL7H 166, 000 167,000 (A 0.6
23 5— 5 WERET 2 T H 4% 24+ 785, 000 799,000 |A 1.8
3 5— 6 JBRE2TH4%FL9 251, 000 250, 000 0.4|[EF2—4—41
£ 5— 7 Efgi@ e 1 H 5% 34+ 164, 000 165,000 (A 0.6|EZiE6 —5— 3
S 5— 8 EHT3 1% 9 193, 000 193, 000 0.0
S 5— 9 NEHT 2% 1 3 155, 000 155, 000 0.0
FA3 5 —10 EBHETFMALES 6 7% 34+ 228, 000 228, 000 0. 0| ClerrmBEn 1 94K 15— 144)
E+3 5 — 11 ELRET11%S5 187, 000 188,000 (A 0.5
S 5 — 12 SRET1T TH 1% 1 34+ 421,000 424,000 (A 0.7
S 5 —13 GEHET 9%/ 1 14+ 371, 000 371, 000 0.0
B3 5 — 14 WAERT3 TH6%S 214, 000 215,000 (A 0.5|%ENT3 —4—1 4
S 5 —15 $EET2 6% 1 174, 000 175,000 (A 0.6
S 5 — 16 EAIET9 0% 1 189, 000 189, 000 0.0
S 5 — 17 ANElT1 TH2%6 227, 000 230,000 (A 1.3
S 5 — 18|% 7 — 3|AKERT9 0F 1 146, 000 147,000 (A 0.7
S 5 — 19|83 E R THRE7TH107& 15 178, 000 — — |FHRH7—-—9—-34
S 9 — 1|3 7T — 4 rR2420%F14 67, 700 68,200 (A 0.7
I5fn] -1 KEFHT 2 5 1% 2 181, 000 181, 000 0.0/ KEERT1 0—2 1
5fin] - 2 HF5TH208%F1 2 99, 300 100,000 |A 0.7|}F+5—10—6
73] - 3 AHR1ITH259%1 163, 000 162, 000 0.6| A1 —7—14
I5fin] — 4 AT AR ) F291%15 87, 000 87,400 |A 0.5
5fin] - 5 EBM3TH396%2 167, 000 167, 000 0.0/ M3 —-5—8
73 — 6 TH3THG688%FI1 170, 000 170, 000 0.0|FFH3—8—29
I5fn] — T|IEERR W2 TH145% 114, 000 — — |2 —-5—5
73] — 8 45 THS543%F11 141, 000 141, 000 0.0[fhé4x5—-—9—17
30 -9 SRHT 8 3% 4 218, 000 218, 000 0.0|RMT4 — 8
73] — 10 EHHSTH31E 135, 000 135, 000 0.0|EEM5—-—3—17
I5fin] — 11 INETAKR 8 7T 6F 1 14+ 105, 000 106,000 |A 0.9
I5fin] — 12 VEfipES 1 143%S8 123, 000 124,000 |A 0.8
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D I ; 12 Had CVEEIEL s
H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (/nt) (%)

I5fn] — 13 VS TFHEE 9 6 5% 94 62, 300 66,800 |A 6.7
I5in] — 14 HATIHRE»H66 2752 56, 500 57,100 |A 1.1
I5fin] — 15 HE1TH71%6 126, 000 127,000 (A 0.8 A1 —20—24
I5fin] — 16 EA3 27 4% 69, 600 74,400 |A 6.5
I5fn] — 17 JARZ4THO 79%1 24 66, 800 71,600 (A 6.7|f24—-11—3
3] — 18 SL-HTHEEE 4 8 0% 8 91, 000 91,400 |A 0.4
I5fin] — 19 KRE7T90%K7 98, 100 98,600 |A 0.5|8MH15—8
I5fin] — 20 THFES5TH116%K64 91, 200 95,200 (A 4.2|FJIJF5—16—10
I5n] — 21 KB S5 TH2 7 434+ 72, 300 77,700 |A 6.9[)RBF5—19—7
I5fin] — 22 JKEF2 THO9 1%6 85, 200 87,100 |A 2.2|/K#F2—-19—15
I5fin] — 23 43 TH106%5 150, 000 150, 000 0.0[fh43—-11—31
I5fin] — 24 WHM3ITHTO0 7%F64 111, 000 111, 000 0.0/ HFM3—30—11
I5fn] — 25| kin] 7T — 2MPRTHETES506%1 131, 000 131, 000 0.0
I5fin] — 26|yl 7— 5| KFI2TH2%13 167, 000 167, 000 0.0[Kfn2—6—22
I5fin] — 27 |Win] 7 — 6|FEEHHETEIET 24% 11 95, 500 96,600 |A 1.1
I5fin] 5— 1 B2 TH26 9% 163, 000 164,000 (A 0.6|FH2—-15—13
5fin] 5— 2 RET1 0% 9 224, 000 225,000 |A 0.4[RET4—27
I5fin] 5— 3 FEHT 2 3% 3 4+ 625, 000 627,000 |A 0.3|FEHET1 1 —6
I5fin] 5— 4 E&HME4 THS 1% 163, 000 163, 000 0.0|EEM4—9—3
73 5— 5 T 2% 4 2 312, 000 317,000 |A 1.6[#TH 4 —21
I5fin] 5— 6 FEET 2 5% 8 303, 000 305,000 |A 0.7[FHET5 —2 0
I5fin] 5— 7 M2 TH178%2 127, 000 131,000 |A 3. 1|2 —25—5
I5fin] 9— 1 BmM3TH122% 14 84, 100 84,900 |A 0.9|EmM3—-3—7
I5fin] 9 — 2 IAF1ITH1209%F17 44, 300 44,600 (A 0.7|dttT1—-6—-53
5] 9 — 3|BRT 7 — 1HETIHAES 2 6% 1 74, 600 78,800 |A 5.3
I5fin] 9 — 4|BRAT 7T— S| HAR1ITH271% 64, 900 68,500 |A 53|51 —22—29
I5fn] 9 — 5|k 7 — A|FAET3 9 4% 2 120, 000 121,000 |A 0.8
30 9 — 6|BeH 7 — TERE3ITH244%5%5 137, 000 137, 000 0.0|fZfE3—2—21
7K — 1 WF1TH725%40 62, 700 66,300 (A 5.4|#771—13—8
17K — 2 FINFEREmH121%7 103, 000 104, 000 |A 1.0
7K — 3 MNERT470%166 104, 000 105,000 |A 1. O[fFAEAT1 4 —2
7K — 4 “RTEIE1874%6 52, 000 56,000 |A 7.1
57K — 5 Boirh 2 TH1668%&30 76, 300 79,700 |A 4. 3|Byifh2—11—14
1K — 6 INERTFHE 4 3 43K 2 50, 700 51,500 |A 1.6
1K — 7 EM=ZFAK8 1 6% 3 4 86, 300 87,400 |A 1.3
1K — 8 EhHET1847F16 107, 000 108,000 (A 0.9(F/ET4—35
7K -9 FIEKET2 3 63 2 122, 000 123,000 |A 0.8| LiE/KHET14—39
17K — 10 VBRI 2 8 9% 4 118, 000 119,000 (A 0.8
7K — 11|BE% TEEET 2 2 23K 2 44 131, 000 — — |WHERT6—37
7K — 12 BH4TH2273%64 105, 000 105, 000 0.0
7K —13 FIRrENT 8 175 4 118, 000 119,000 |A 0.8|EIFFEIT7 — 1 1
7K — 14 LTV ) R365%6 2 73, 200 74,600 |A 1.9
7K — 15 Ml HiH5 1 2% 1 65, 200 66,300 |A 1.7
1K — 16 i TR 2 6 2% 5 98, 800 100,000 |A 1.2
17K — 17 IEFR 2 KB 2 1 0% 94t 94, 000 95,100 |A 1.2
7K — 18 WH1ITH4609%S8 57, 600 59,600 |A 3.4[#H1—-—28—10
TE7K —19 LigE—H2 6 5% 144, 000 144, 000 0.0|FME—HIL18—6

* K — 20 HWT 4 5% 135, 000 137,000 |A 1.5|EHT8 —17
7K —21 AH184%2 156, 000 156, 000 0.0/xrm12—24
7K — 22 Bl Pl REKES 1 3 9 03K 9 4% 90, 300 91,200 |A 1.0
7K —23 REWOREHT 4 0 4% 2 75, 200 79,400 |A 5. 3|HWEEIT1 2 —4
5K — 24 TEFMTS5 5 0%S8 102, 000 103,000 |A 1.0| FE##HT8 — 3 5
1K — 25 PEARTINR104%19 102, 000 104,000 (A 1.9
17K — 26 BRTHIR1247%28 90, 900 91,300 (A 0.4
K — 27 LNHET430%K1 2 99, 000 100, 000 (A 1.0|G)11EHT 2 —4 3
7K — 28 WEHR10 3% 59, 000 62,900 |A 6.2
7K — 293K 7T— 1EIN3THT7O0FKLN 107, 000 108,000 (A 0.9|¥:)I13—7—29
7K — 30|¥5/K 7 — 3|MiFTHTTEEE 3 4 0% 5 93, 300 93,700 |A 0.4
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H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (/nt) (%)
17K — 313K 7 — 6|HmHETRFETIFN 1 5 8% 4 94 70, 500 72,400 |A 2.6
1K — 321K 10 — 1[BFEITFHFAF N5 5 2% 2 80, 700 81,500 |A 1.0
17K — 33|EE R MRETAXHE394%25 60, 400 — —
7K 5— 1 BRI 4 97 181, 000 186,000 |A 2.7|E#HT3 —9
7K 5— 2 LYHE2 TH406%84 128, 000 129,000 (A 0.8/ EVHE2—6—16
17K 5— 3 LY EHRERTHES 1 7% 94 107, 000 108, 000 |A 0.9
GRS 5— 4 F2THG602%1 117, 000 121,000 |A 3.3|F2—11—21
* K 5— 5 T2 THL 2% 142, 000 148,000 |A 4. 1[FfHT2 —10—2 2
K 5— 6 JHEET2TH30 7% 122, 000 127,000 |A 3.9/ fHT 2 — 8 — 2
K 5— 7 IINEHT6 1 6% 34k 128, 000 131,000 (A 2.3|/NEHT1 — 6
1K 5 — 8 BRI B2 2 6% 7 96, 300 100, 000 (A 3.7
7K 5— 9 WHE3TH1566%K54 76, 000 78,800 |A 3.6|7/H3—5—138
7K 5 — 10|3&7K 7 — 7|HHEAEETHT1 3 2%6 77, 100 79,600 |A 3.1
7K 9— 1 LYHETRKIEH 4 8 9% 63, 500 64,300 |A 1.2
7K 9— 2 HoOHET1 0 1 &5+ 87, 800 90,900 |A 3.4|H LT 3
7K 9 — 3|iK 7 — 2EFENT A1 4 2% 20 97, 200 97,600 |A 0.4
7K 9 — 4[3HK 7T — 4|EEHIMT 1 4 9 FKSh 70, 200 73,700 |A 4. 7|ZHIETO — 3
7K 9 — 5|k 7 — S|HEEHNTTRM107 2% 56, 000 58,200 |A 3.8
i — 1 MBI 1 3 6 3% 6 4t 76, 000 77,500 |A 1.9
i — 2 MWir2TH1353%15 3% 92, 500 93,200 |A 0.8|ITL2—-35—-37
i — 3 FOAHTFAIR9 36%K4 10 59, 600 59,900 |A 0.5
g /N — 4 FEMFEMFE315F701 72, 100 72,400 (A 0.4
vl — 5 FE3STH716%1 04 96, 200 96,300 (A 0.1|FE3—24—-23
* JEAAH — 6 IIFRT4 8 9 9% 64+ 134, 000 133, 000 0.8|ILFMT3 7—3
IeRn — 7 FrE|ur i 1 7 6% 81, 300 82,500 |A 1.5
epa — 8 JWR2THT78%209 124, 000 123, 000 0.8[JkiR2—43—32
i -9 W2 TH19666%1 114, 000 113, 000 0.9/ 2—-13—18
vl — 10 BHEITHA2961%30 89, 500 89,700 |A 0.2
epa —11 W5 TH278%47 75, 600 75,800 [A 0.3[Z5/H5—-20—40
e — 12 EHE1ITHT76 8%24+ 97, 100 97, 100 0.0[F51—-15—7
eparh — 13 #HE2TH1113%63 76, 900 77,100 (A 0.3|#M2—43—10
g /N — 14 EEAES5TH111%14 94, 500 92, 600 21| HRE—11—4
A — 15 FIRIET 3 4 8% 8 4 85, 000 85, 000 0.0[FRMT2 —1 6
N — 16 BHET T 130%4 1 80, 700 80,900 |A 0.2
* JEAAH — 17 E2TH294%F15 83, 000 83, 000 0.0|22—37—10
g /N — 18 BH{EHT6 6 6% 1 95, 800 95, 500 0.3[BhENT41—-37
N — 19| 3T WiITATH205%7 87, 100 — — |WBir4—34—16
LA — 20 FEAESENT FE IR 5 9 2 3% 79, 900 80,800 |A 1.1
LA — 21 EEHE2THL09%F44+ 115, 000 113, 000 1.8|fEsH2—9—5
LA — 22 FE3THG65 3% 79, 700 80,000 (A 0.4|FF3—11—9
Tefarh — 23 BHRT1222%6 88, 100 88, 100 0.0
g /N — 24|BEHR 1 TH108%94 243, 000 — — |Fk1-8—-27
LA — 25 fifG2TH152%&1 88, 500 88, 500 0.0[fitG2—2—25
Hefarh — 26 E£4THS15%F11 78, 500 78,600 |A 0.1[524—24—7
A — 27 WEHE2THG6 20%?2 88, 600 89,000 (A 0.4[FEEEH2—-21—-12
MivNes — 28 NE3STH1075%6 87, 000 87,200 |A 0.2|RE3—24—4
A — 29[ iERR R3TH6G657%&21 72,900 — — |®3—2—138
* A 5 — 1 HAMRHT 3 2 0% 1 84+ 601, 000 610,000 (A 1.5
sl 5 — 2 WEHE1TH106%8 106, 000 107,000 |A 0.9|¥E¥EH1—-6—6
w5 — 3 WILET340%10 122, 000 122, 000 0.0
* A 5 — 4 HURET1 0 27 1 34+ 239, 000 239, 000 0.0
R 5 — 5 JEIRET2 16719 206, 000 206, 000 0.0
TR 5 — 6 WiT1 TH1833%1 108, 000 108, 000 0.0/ 1 —10—3
i 5 — 7 WG 2TH1174%16 99, 200 99, 200 0.0fHE2 —6—7
sl 5 — 8 mERS5TH1O01%&64 68, 700 69,000 |A 0.4|HmER5—1—26
w5 — 9 WAL1 TH1 1% 24+ 103, 000 103, 000 0.0/#dk1—3—-20
sk 5 — 10 LTFEr 273 2 120, 000 120, 000 0.0
w5 — 11 1 TH9 3 5% 93, 500 93,800 |A 0.3|fEfE1 —24—2
ST VER K 5T
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H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (/nt) (%)
a5 — 12 JUERT S5 TH 1 2 5% 24 104, 000 104, 000 0.0
ka5 — 13 WyILET 3 5 3% 344 244, 000 247,000 (A 1.2
kA 5 — 14 FRITFERE2 1 4% 2 91, 600 92,100 |A 0.5
a5 — 15 FAERT2 8 83 3 93, 800 94,000 (A 0.2|FHART1 5—5
w5 — 16 fEE3TH164%F 74 101, 000 101, 000 0.0[F%3—-12—-31
sk 5 — 17 Fol 2 TH 8% 2 93,900 93, 900 0.0[fnhi2 —8—17
a5 — 18|iwfarh 5 — 28| ILET 3 2 57 84 397, 000 400, 000 |A 0.8
a5 — 19 mer2 3 1% 4 141, 000 141, 000 0.0
sl 5 — 20 =2 12%16 96, 700 97,200 (A 0.5
a5 — 21 (LRI LN 9 43K 2 99, 200 99, 200 0.0
sl 5 — 22 Z£1TH33%2 97, 200 97,500 |A 0.3|321—4—19
sk 5 — 23 a3 TH152%S8 89, 700 90,100 (A 0.4|mEFE3—52—21
AR 5 — 24 E#3THS505%1 105, 000 105, 000 0.0//cfE3—7—6
i 5 — 25 HET2 2 1% 11 152, 000 151, 000 0.7
R 5 — 26 2 TH3 7 3% 84, 000 84,500 (A 0.6|MfF2—22—15
w5 — 27 HEET3 0 8% 4 114, 000 115,000 (A 0.9
R 9 — 1 WER1ITH109%1 8 63, 100 63,600 |A 0.8|EEHR1—9—37
AR 9 — 2 ARABTTHEH 6 0 K5+ 48, 500 49,400 |A 1.8
TR TR — 1 HEE3TH603%14 83, 600 83,800 |A 0.2|HEH3—6—5
* AN — 2 PERTF)IH 2 6 % 8 93, 100 93,400 |A 0.3
LR - 3 FHITTRE2 472 78, 400 78,600 (A 0.3
T A B — 4 Keg)IIMTFEH 8 8 4% 77, 500 77,700 (A 0.3
TR TR — 5 TP FHMa 1 4 2 2% 5 71, 000 71,400 |A 0.6
AN SR — 6 /7 WHIT T FHRAT 9 5% 83, 700 84,300 |A 0.7
LR — 7 AETTAMS3 96%&1 69, 600 70,100 (A 0.7
s — 8 PN T2 TH24%1 7 96, 000 96,400 (A 0.4
LR - 9 KT 9 0% 2 87, 800 88,000 |A 0.2
LR — 10 TAHEITFHER 102 5%2 65, 800 66,200 |A 0.6
i Ay —11 FHL2TH4914%45 75, 000 75,300 (A 0.4HL2—-17—20
AR TR — 12EmmE 7 — 1|/hBTFTR 1 6 0 3% 14} 75, 600 75,700 |A 0.1
AR — 13| 10 — 2| HETFILHI 2 5 6 & 1 60, 700 60,800 |A 0.2
LR — 14| 10 — 1|ABETTENH9 8 6% 47,700 48,100 |A 0.8
L 5 — 1 TABITTARTL 81 8% 1 75, 700 76,400 (A 0.9
IR 5 — 2| BER HEANTFITH 1 7 4 6% 14 85, 000 — —
EIR 9 — 1 FIAWTAMNFI3 3 5% 1 55, 500 56,000 |A 0.9
T 9 — 2|l 7 — 2@k 4 3 8% 1 50, 300 51,600 (A 2.5|FEE#TH 1 6 — 2
i v — 1 SRR FHskE 4 2 0 4% 14} 56, 000 58,300 |A 3.9
i N} - 2 TEJFHTPELA 1 79 4% 2 50, 700 52,300 |A 3.1
TN -3 FHEET A4 3 8 5 4 % 24 33, 300 34,000 |A 2.1
i v — 4 ABFI AL 641 6% 9%+ 82, 800 82, 800 0.0
i ] — 5 KFEFHE4TH110%K1 4 98, 500 96, 200 2.4/ KFEHE4—-—10—23
i i) — 6 PEPRETIEM 1 6 4 % 24 53, 500 57,000 |A 6.1
AP -7 PEBRHT PR F 1 6% 2 52, 000 55,300 |A 6.0
i v — 8 M1 TH118%&18 63, 400 69,500 |A 8.8|HEHs1 —18—27
i v -9 RERERT 54 TR 4 9 7 3% 4 60, 200 64,200 (A 6.2
AP — 10|Ekape 10 — 1[FnNTF R4/ 14 9 4% 38, 800 39,200 |A 1.0
] — 11|EiarE 10 — 2/ A FER442 1% 37, 600 38,000 |A 1.1
LR TE — 12[apE 10 — S| TREAR 116 9% 4 3 50, 300 50,400 |A 0.2
i v — 13[IAAPE 10 — A|HERSETFATRTAM600%F 158 57, 000 57,100 |A 0.2
AP 5 — 1 AU T 2RI 7 2 6 % 34+ 104, 000 104, 000 0.0
g 5 — 2 FEILSERT TR 2 0 3 1% 9 60, 500 64,000 |A 5.5
AP 5 — 3 EHR ST VR4 9 8 83F 14 105, 000 105, 000 0.0| Gmenre 7#x5. 140
A 9 — 1 KAET1349%10 32, 400 32, 400 0.0
/N — 1 GHFEFIT T3 TH3 3 0% 2 1 83, 000 83,400 |A 0.5
2N — 2 PEHANT FAIAT O 8 7% 4 75, 800 76,200 |A 0.5
TN -3 FERBTFER1210%38 56, 500 57,400 |A 1.6
i) — 4 JKNET P )IE 3 6 1% 7 70, 100 71,400 (A 1.8
TN — 5 AYFHTFHRE R 1 35 9% 84+ 81, 700 82,900 |A 1.4
ST VER K 5T
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MRS | AR FPAE - i arig | woriigs |EmE HEEET
(/i) (1/nd) | (%) 7

AT — 6 HEHMET6 7 0% 1 72,100 73,200 |A 1.5
AT — 7 FHHET3 6 2% 4 73, 300 74,600 (A 1.7
i) — 8 SHHT T2 9 6% 74, 700 75,900 (A 1.6
ek 5 — 1 —BETTHIN 8 8% 14t 79, 900 80,700 |A 1.0
WekArd 5 — 2|IANE 7 — 1|HCEAKET 8 % 89, 000 89,200 |A 0.2
T b — 3|EEE SHFEFIT 3 TH3 3 2% 1 94 88, 500 — —
AR 9 — 1 EIFEET1 7 8 8% 74k 38, 000 38,600 (A 1.6
i vaee — 1 #AERT1 336%3 76, 100 76, 100 0.0
el — 2 FVTHT IR T4 8 3% 1 36, 400 36,800 |A 1.1
et - 3 ST ST HREE1 02 9%6 44, 800 45,500 |A 1.5
Vi rld — 4 AT P EXE 8 5 3% 24 50, 800 51,700 (A 1.7
Vi ld — 5 SIEMFHFRTHP 255 0%9 39, 300 39,800 |A 1.3
Vi ld — 6 = AN = B 5 7 8% 54t 46, 000 47,300 |A 2.7
sl -7 FEH2TH103%10 61, 000 60, 500 0.8|##M2—3—6
i vaee — 8 o BNTERHTHIEM 2 15 4% 6 31, 800 32,600 (A 2.5
Vi ld — 9 ARITET )T IALE 4 9 1 18 1 494 36, 300 37,600 |A 3.5
Nisild — 10{#efadt 10 L{#S T RIS 01 7% 6 43,300 42,900 0.9
ek — 11|&Efde 10 2|1=ZHFNT1 49 4% 3 53, 600 53, 300 0.6
et — 12|fadt 10 3| TAT I EREE7 17 2% 1520 40, 000 40,500 (A 1.2
Vi irld — 13|#eAadt 10 4|5 ERTRE R A AT 8 7 5% 5 29, 900 30,500 |A 2.0
wde 9 — 1 M4 THLO4%S3 28, 500 27, 000 5. 68 M4 —4— 3
il — 1 F710%6 65, 800 65, 500 0.5

* dldE — 2 M4 1 7E 74, 500 74, 500 0.0
il — 3 TR 7185%09 58, 200 58, 100 0.2
i — 4 BEBET)IE1 38 4% 2 71, 300 71, 000 0.4
il — 5 NIF54THS575%16 57,900 57, 700 0.3|NHFH4—26—5
faedt — 6|zt 10 HRARFNET 198 2% 24+ 49, 800 50,000 (A 0.4
faredt —  7|dfanedl 10 2|HEm 1 32 4% 24+ 47, 600 47, 600 0.0
msedt — 8|iAaiedl 10 3|'F 0 4 8 3% 45, 200 45,300 |A 0.2
msEdl 5 — 1 ARE164%F1 80, 700 80, 700 0.0
Fefaiede 5 — 2 EAAYRTIIIE 1 0 3% 1 34+ 88, 500 88,900 (A 0.4
msEdl 9 — 1 TR 7 7 7 6% 544 26, 300 25, 200 4.4
I RE  — 1 TARBT REFIE 1 9 8 5 &S 48, 500 49,400 |A 1.8
e IR Efith4 25 4% 2 43,900 44,600 |A 1.6
AR — 3 MHATREM2520%20 29, 200 30,100 |A 3.0
- FITE)ITAME3 38%F3 0 9, 700 10,000 (A 3.0
ERE®E 5 — 1 TR CRETH T 1490% 53, 000 55,000 |A 3.6
A — 1 FRETHR3 90%ES 102, 000 103,000 |A 1.0

* VAR — 2 —“HETH HIT3 4 7%6 138, 000 138, 000 0.0
WA — 3 W1 TH857%&D5 124, 000 124, 000 0.0|¥8dLlT 1 —8 — 4
WAHE — 4 KFHR3 1 74%9 100, 000 100, 000 0.0
WAHE — 5 ARHENT4 0 2% 3 122, 000 124,000 |A 1.6|A480T1 2 —2 4
VAHE — 6 FFmR1126%2 95, 000 96, 000 |A 1.0
WAHE — 7 KEFMI56%F30 116, 000 116, 000 0.0
THE — 8|EEH FHIT2THL 0% 4 103, 000 — —
A — 9 THEETHIN1486%6 101, 000 106,000 |A 4.7
VAHE — 10 KiTFRT502%1 2 104, 000 104, 000 0.0
VAHE — 11 TR 659%28 73, 000 74,500 (A 2.0
A — 12 TEETWA2 22 5%F445 89, 000 94,000 |A 5.3
WAHE — 13 A5 R6%F1 87, 300 88,000 |A 0.8
1A — 14 MEF L XAME1327F3 7o 94, 800 95,000 |A 0.2
WHHE — 15 PARET2 131 6 100, 000 101,000 (A 1.0
THE — 16 HHERHGE25 1%3 76, 000 77,000 |A 1.3
A — 17 WM \EGS 2 7%/ 9 105, 000 108,000 (A 2.8
WA — 18 TSERT 7 9% 2 123, 000 125,000 (A 1.6|#1=EHT8 — 1 6
A — 19 WHTHEFH2 2 7&445 77, 800 78,500 |A 0.9
TR — 20 i) e ] ) WEE S 3 3% 1 2 92, 000 92,500 |A 0.5
WAHE —21 TEATEES525%2 3 95, 200 99,000 |A 3.8
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D I ; 12 Had CVEEIEL s
H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (/nt) (%)
aRess — 22 NREETHIE 2 7 0% 1 92, 700 94,300 |A 1.7
WHHE — 23 MIESE20 110, 000 110, 000 0.0
WAHE — 24 HRMET1 7 4%6 115, 000 115, 000 0.0 RMRT1 4 —6
WAHE — 25 KIATFAKHA2242%16 109, 000 109, 000 0.0
A — 26 WHEK T/ B 1 15%100 79, 800 80, 400 |A 0.7
A — 27 KFFTEEEIr1 8 9% 1 91, 300 92,600 |A 1.4
A — 28 WHEK TR 1733%20 86, 900 87,700 |A 0.9
WA — 29 &1 850%20 130, 000 130, 000 0.0|dbm ST 3 — 7
A — 30 HHER T HT293% 1 1 84, 700 85,800 |A 1.3
WA — 31|7HE 7T— 1{EEIT979%2 105, 000 107,000 |A 1.9|PEEHT 3 — 3
THE: — 32(78E 10 — 1|WETeEp 7 8 4% 14+ 43,900 45,000 |A 2.4
WAHE — 33|V 10— 2|O0BFREMm239%18 51, 100 55,700 |A 8.3
* JEHEE 5— 1 KFEITSTHS 7% 24+ 370, 000 382,000 (A 3.1|KFH5—2—3
WAHE 5 — 2 A0y 5 3% 238, 000 244,000 |A 2.5
WAHE 5— 3 FHET9FE 1 244 128, 000 130,000 |A 1.5
THE: 5 — 4 AT EWTPEM 4 1 93K 14 149, 000 152,000 |A 2.0| (FH[JETIX1 2)
WA 5— 5 =T 33 8 251, 000 255,000 (A 1.6|EEIT3 —7
WAHE 5— 6 J\IEHT 7 8 FAHh 149, 000 151,000 |A 1.3
NARE s 5— 7 FESHT 6 % 2 167, 000 168,000 |A 0.6|/E%:HT 6 — 2
WAHE 5— 8 HEET1 1% 25 142, 000 144,000 |A 1.4|HHT11—-20
TR 5— 9 FHH3TH13%22 103, 000 104,000 |A 1.0
TR 5 — 10 AW 2 7% 173, 000 178,000 |A 2.8
WA 5 —11 KFEMT2THOES 205, 000 211,000 (A 2.8/ KFH 2 —9—3
VAHE 5 —12 HIGHT 2 5 5% 3 138, 000 138, 000 0.0|IxIT1 2—1 8
WAHE 9— 1 2ETREE396%F T 74 42,200 42,600 |A 0.9
THE 9 — 2 Kilfah7T/)\XH5 6 132 53, 400 55,000 |A 2.9
E\hE -1 FHET8 3% 26 90, 400 90,800 |A 0.4|FHNT11—13
* Efg — 2 BHET1601%1 84+ 68, 300 69,600 |A 1.9|RHT5—23
E\hE - 3 VT2 TH1800% 155 27,900 28,500 (A 2.1|FEEEIT2 —2—1 1
* Efg 5 — 1 $RIFEHT 3 5 7% 5 140, 000 142,000 (A 1.4|¢RFEEHT 5 — 9
E\hE 5— 2 FOMEREET 1 3 6 8% 6 4} 105, 000 107,000 |A 1.9|FnMEREET2 —1 9
= — 1 BELtElLyY215%28 91, 000 91, 000 0.0/[FtrL>vyvY23—38
= — 2 mEs50%6 97, 000 97, 000 0.0
= — 3 EHREH1TH10%KLS 89, 000 89, 000 0.0
= — 4 m128%5 24+ 95, 000 95,500 |A 0.5
* =5 - 5 KeEW2TH3547%2 152, 000 151, 000 0.7|K=#r2—13—15
= — 6 BT/ N136%56 102, 000 102, 000 0.0
= - 7 EET3 9% 1 0 137, 000 136, 000 0.7|MERT9 —2 0
= — 8 KGTHIZM2 4 4%3 96, 000 96, 000 0.0
= -9 HEA2TH149%88 110, 000 110, 000 0.0/ 2—-19—-48
= — 10 MEH 8% S 81, 200 81,400 |A 0.2
= — 11 EHTHS 27 1 2 107, 000 106, 000 0.9
= —12 Mi% 37 7% 1 91, 800 91, 800 0.0
= —13|1= 10— 1|14 570%5 82, 100 82,700 |A 0.7
= — 14|= 10 — 2[ERFEILI399%1 32, 300 32,600 |A 0.9
* =5 5— 1 —&HT2 7 0 0% 64+ 299, 000 299, 000 0.0 —&FMT15—21
= 5— 2 WHNT1TH2739%1 238, 000 238, 000 0.0[3CHMT1 —5—6
=5 5— 3 HEAR27 9% TH 121, 000 122,000 |A 0.8
=5 5— 4 TART1613%F1 175, 000 176,000 |A 0.6|ZAHT1—40
=5 5— 5 FHT2204%F 1 153, 000 153, 000 0.0/%MT1—30
=5 5— 6 PN 2 38 4% 1 149, 000 149, 000 0.0|PEFMT2—14
=5 9— 1 BIR155%28 46, 500 47,500 |A 2.1
=y — 1 ERTHO462%35 41, 700 42,300 |A 1.4
Bt — 2 A5 9 5% 4 61, 400 62,000 |A 1.0
e -3 A6 9% 40, 700 41,400 |A 1.7
Bt — 4 JEET2 0 4 8% 2 4+ 61, 600 62,500 |A 1.4|dEMT13—16
* HoE - 5 HOENS 1 2% 67, 500 68,900 |A 2.0
=y — 6 JHT1 51 9% 14+ 64, 000 64,700 |A 1.1PEMT10—1 3
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D I ; 12 Had CVEEIEL s
H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (F/nd) (%)
CENCS — 7|EER R EJIET 1 0% 34t 64, 700 — —
e — 8[®EE PE/ANRET3 1% 1 2 62, 400 — —
[ -9 KPFETHA1172%3 42, 500 43,800 |A 3.0
CENC — 10 FrhEfsk1 03 3% 10 47, 100 47,900 |A 1.7
=y —11 INRFMFL 9 3 63F 54+ 53, 800 54,300 |A 0.9
CENC — 12 AT F)IE2 1 8% 1 42, 400 43,600 |A 2.8
o — 13 KRBT 7 5 9% 64+ 62, 000 63,000 |A 1.6|%HT19—16
[ — 14 KAETHEATF42%15 44, 300 45,000 |A 1.6
=y — 15 KAETIERT A48 1%S8 39, 300 39,800 (A 1.3
et — 16 TP T RAIE 3 14 15K2 7 48, 700 49,500 |A 1.6
e — 17 e AT 5 8 9% 2 2 51, 100 52,200 |A 2.1
=y — 18 N1 2 2 1% 2 46, 900 47,700 |A 1.7
[ —19 ZiET R JH 71 0% 2 94 39, 500 40,500 |A 2.5
=y — 20 EmMTNZ+110%40 47, 800 48,700 |A 1.8
B —2l|FL® 10 — 1|EZBETKMA1 2 8 07 84} 6, 350 6,650 |A 4.5
=y —2lEtE 10 — 2| LHHFTZL86 8F2 2 14, 000 14,400 |A 2.8
=y —23|EE 10 — 3|EHTIFH509%F3 2 27,900 28,800 |A 3.1
=y —24[E 0 10 — 4|dUFHTMS51115K1 24, 300 25,000 |A 2.8
[ —25|F+E 10 — 5|EATFAKES860%4 21, 100 21,500 |A 1.9
Bt —26[F % 10 — 6|ILARTREEZ608%6 7 28, 800 29,400 |A 2.0
Bt —271|E " 10 — T|RABRTAHRE3 20%F1 12, 700 13,100 |A 3.1
[ —28|ELE 10 — S| REAET-IR940%5 84 19, 700 20,400 |A 3.4
BEtE 05— 1 HHT112%66 78, 500 80,500 |A 2.5|FHMT22—1 2
* HhE 5 — 2 T 1 5 0% 54t 99, 000 101,000 |A 2.0|FHJHT4 —9
BEtEH 5 — 3 HWET1206%1 81, 000 83,500 |A 3.0|3HET9 — 2
BEtE 5 — 4 PEHT5 0 1% 1 68, 000 70,000 (A 2.9|6KET26 —1 8
BEE 9 — 1 T3 B ECET R FARER 3 6 8 0F 1 3 31, 200 31,700 |A 1.6
BLEE 09— 2 EER/R2230%K1 4 22, 000 22,500 |A 2.2
G — 1 FEETER1971%K4 64, 400 65,000 |A 0.9
G — 2 WFETNH6 6 9F 1 54+ 72, 000 72,500 |A 0.7
Eid — 3|B|EHR MU 5 0 7% L 5 32, 900 — —
G — 4 FHHTFFJES 8 2% 3 49, 000 49,300 |A 0.6
G — 5 KIF3TH12 7% 61, 500 62,000 |A 0.8/ K3 —10—12
G 5 — 1 HINFHET 2 4 57 24t 92, 000 93,500 |A 1.6|HIAEHT 9 — 2
G 5— 2 W4 7 6% 2 04 78, 800 80,000 |A 1.5|3EHT4 —1 3
Eidi 5— 3 FEnT 5 6 2% 89, 000 90,500 |A 1.7|5VEHT 8 — 2
* & H -1 FRelT 4 7% 3 80, 200 81,200 |A 1.2
i - 2 JE2TH7316%11 62, 800 63,500 (A L.1JJE2—18—22
i - 3 BIRENT1 74539 44,700 45,400 |A 1.5
i — 4 M1 3 6% 14+ 63, 000 64,000 |A 1.6
B — 5 W2 TH3673%&%17 59, 500 60,500 |A L7[f@ff2—17—52
i — 6 BARIT1123%S8 55, 500 56,200 |A 1.2
5= 5— 1 BT 1%1 5 125, 000 129,000 |A 3.1
i 5— 2 BHT1 2% 16 85, 000 86,900 |A 2.2
i 5— 3 FRaRET 1 133 73, 800 75,700 |A 2.5
i 5— 4 SN E+HEF1 99 3F 24 66, 500 68,000 (A 2.2
Bt -1 4T 6 9 Ak 93, 600 94,100 |A 0.5[@%EHT8 — 2 1
Bt — 2 fGEFHWL 12 4% 144 65, 700 66,500 |A 1.2
i - 3 — T/ JH164%1 3 59, 700 60,800 |A 1.8
Bt — 4 RKETFTRMEFEL172%F1 2 56, 100 57,000 (A 1.6
* B - 5 EALE1ITH2111%S 74, 900 75,300 (A 0.5|EHAR1—7—5
B+t — 6 FRFEVE R 94%1 84 69, 600 70,000 |A 0.6
i -7 JIKRART500%1 4 71, 400 72,800 |A 19|LREANT1 6 —7
Bt — 8 AWTH T L3 4 8F 84 68, 900 69,800 |A 1.3
B+t -9 AT LE1423%4 54, 900 55,800 |A 1.6
i —10 HETHRFE1290%1 4 60, 800 61,500 |A 1.1
i — 11 FETRRN1I72%40 68, 900 69, 400 |A 0.7
w4t — 12 WINTETF495%97 57, 800 58,600 |A 1.4
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D I ; 12 Had CVEEIEL s
H 25/ i 755 R4 FFHE - HiG 2fiif | 2ofiifs (BB o o
(F/nt) (F/nd) (%)

"+ —13 FREHTHETE 1 45%3 49, 500 50,500 |A 2.0

w4+ — l4[®ER HETRKFE584%5 71, 600 — —

i — 15 PHFHOH3 76%K 1 81, 700 83,000 |A 1.6

"+ — 16 SRTHER226 2% 7 70, 000 71,300 |A 1.8

[CES — 17 AR T)IR 1 6 7638 5 73, 600 74,700 |A 1.5

G — 18 ERFRA2155%K4 1 60, 600 61,300 |A 1.1

5t — 19 HARTIEN 4 9F 67, 800 68,500 |A 1.0

G — 20 AR5TH1025%S8 76, 400 77,500 |A 1.4|5R5—-16—26

= — 21 BEI1THS56 0%&2 97, 600 97,900 |A 0.3|FiE1—-11—-10

i — 22 fRIEFTHA1 76 4% 24+ 75, 800 76, 700 (A 1.2

CES — 23 IRET 6 2 88447 53, 300 55,500 (A 4.0|¢3)IIFFRT1 2 —5

Bt — 24 KPAB1TH26%7 87, 400 88,500 |A 1.2|/kFE1—3—9

Bt — 25 AR TS 4 7 8% 8 74, 600 75,000 |A 0.5

N — 26 W /BT 1& 74 70, 300 71,200 (A 1.3

B+ — 27 AWLHETEEG6 3 63 3 59, 800 60,600 |A 1.3

Bt — 28 ERFHET1246%74 69, 800 70,600 |A 1.1

i —29 EMEET2896%36 93, 100 94,000 |A 1.0|7&M ERT1 8 —4

Bt — 30 EARTHM2 05 7FS5 4+ 62, 800 63,400 |A 0.9

i — 31 BELRAE7TTHG6%1S 68, 000 70,000 (A 2.9

B — 32 AT/ 2 6 7 4% 1 34+ 53, 400 54,500 |A 2.0

i —33 EETRME1062%F1 1 67, 800 69,800 |A 2.9

Bt — 34 BT 16 9%116 52, 000 53,000 |A 1.9

Bt — 35 AT FHH44%F10 96, 800 97,500 |A 0.7

B+ — 36 HET)IRYE E2 8% 40 83, 300 83,900 |A 0.7

w4+ —37|E* 10 — 1[BEFPEmHE5 1%&2 64+ 41, 100 42,000 |A 2.1

i — 38|&+ 10 — 2175 IRFE5 0% 1 0 44, 000 44,800 |A 1.8

Bt —39|8 - 10 — 3[R¥WFIkL2213%157 28, 900 29,400 |A 1.7

i — 40[&+ 10 — AN TIHARE 6 6% 3 46, 800 47,500 |A 1.5

i 5— 1 RT3 TH 4 8 53 70, 000 70,800 (A L. 1|HHRET3—4—19

i 5— 2 HFHR1THS8 O0&F 24 84, 300 86,200 |A 2.2|FF1—2—9

Bt 5— 3 K B oehT 3 3 % 106, 000 108,000 |A 1.9|/KJF T3 —16

i 5— 4 HIEHT 3 0 6 FSh 151, 000 155,000 |A 2.6

B+t 5— 5 EETHZNG 1 1% 1 67, 500 68,600 |A 1.6

i 5— 6 T TH2 1514+ 108, 000 109,000 |A 0.9[FFHREAT1—-10—19
* B 5— 7 AHT3 0% 1 1 101, 000 103,000 |A 1.9|ABT10—1 7

s 5— 8 HEH3TH3480%158 81, 400 83,700 |A 2.7|HFHE3I—10—2

=+ 5— 9 JEERE AT 1 4 7% 8 4 69, 300 70,200 (A 1.3|EMANRT8 —2 5

B+t 5 — 10 fHI=ERT 1 9% 94, 300 95,500 (A 1.3|#I%EHT10—25

= 5 — 11 FZTHT T 126 0% 1 64, 400 65,800 |A 2.1

w4+ 5 — 12 JERTIHETF1 6% 1 74, 400 75,500 |A 1.5

[CES 9 — 1 JEFETHET10 3% 14+ 39, 000 39,500 |A 1.3

Bt 9— 2 HEETEET 7 0% 8 39, 500 40,500 |A 2.5

L 9— 3 EHEIT2TH1 7 8% 14+ 49, 600 49,900 |A 0.6

C= 9 — 4 WETIE T2 5 9% 64+ 38, 300 38,900 |A 1.5

C= 9— 5 R HAKYEE 6 8 2% 14t 41, 000 41,800 |A 1.9

CES 9— 6 FHETHIHE3 2 0% 34+ 42,100 42,600 |A 1.2

B+ 9 — 7E+t 7— 15EESENT3696%3 58, 000 59,200 |A 2.0[iHEHT11—24
* — 1 ERFETREHM2 7% 16 80, 700 80, 400 0.4

A — 2 CZETHNMNEL 41 9% 1 60, 300 60, 300 0.0

ZH - 3 RAATRZA1586%30 60, 100 60, 100 0.0

A — 4 BETER1494%6 56, 800 57,300 |A 0.9

A — 5 BETEEEHMS 0 2% 34+ 53, 300 53, 300 0.0

2 — 6 WA THL12%17 72, 300 72, 300 0.0

A — 7 PREEH1271%K7 65, 200 65, 200 0.0

A — 8 A2 1THL1O0%S 61, 700 62,500 |A 1.3

A - 9 HIFTRAMR1941%&38 52, 500 52, 500 0.0

HE — 10 FEGFHEII3515%50 65, 100 65, 100 0.0

A — 11 EETAHE3 20 5%2 27, 800 30,500 |A 8.9
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) H25 H24  |5i4E R
HosHEMMER | AIEES A - H0E arig | woriigs |EmE HEEET
(/i) (1/nd) | (%) 7
A — 12 BETER3072%7 25, 000 27,000 |A 7.4
A — 13|%m 10 — 6| FAEHA 149 7% 35, 000 35,200 |A 0.6
A — 14 TR 1 46 5% 3 8 46, 300 50,000 |A 7.4
A — 15 By ERTM 7 00 2% 4 40, 500 44,300 |A 8.6
A — 16 TAMFHT266%F105 70, 700 71,500 |A 1.1
A — 17 HHTIEFL07 8% 57, 000 57,100 |A 0.2
A — 18[#&m 7 — 1FRFBREANTF2016%6 58, 000 58,300 |A 0.5
A — 19|%m 10 — 1| RABRTZLHA6 0 715 33, 800 34,100 |A 0.9
A — 20| 10 — 2| RIMFF _DOFF9 93F 14 33, 400 34,400 (A 2.9
A —21%m 10 — 3lwmmEdETH41 1% 24, 900 25,900 |A 3.9
A — 22 m 10 — A[BST=#E3954%2 26, 100 28,800 |A 9.4
A — 23|%&H 10 — 5|HATHIN1856F 41, 600 42,000 |A 1.0
A 5— 1 A2ZH3TH1 2%64+ 99, 700 99, 500 0.2
A 5— 2 FHEATEELI 05 1E 14+ 59, 800 60,200 |A 0.7
A 5— 3 FREJ)IET1 36 3%F1 84 66, 000 66,500 |A 0.8
A 5 — 4 B2l 23%&1 77, 500 78,200 (A 0.9
HEH 9 — 1 P G EALEIE 3 3 5 0 & 14+ 27, 300 27,400 |A 0.4
A 9— 2 FRZWTHE1L1 1K 15+ 27, 800 29,000 |A 4.1
A 9 — 3[@Ew ERT1 20 5% 27, 500 — —
BEHE — 1 WATHESEM 1 3 9% 20 70, 700 72,500 (A 2.5
BETR — 2 BEEA4 THS8%ELO 76, 100 78,800 |A 3.4|FHEE4—-8—16
BErE — 3 Y H2THS4 2% 34, 300 37,600 |A 8.8|It¥H2—-8—26
BEHE — 4 —“AHBMBHTE T2 1 8% 2 58, 200 59,400 |A 2.0
BEHE — 5 T4 250 0% 36, 700 38,000 (A 3.4
BErE — 6[BER H/NISTH1406%3 59, 400 — — [H/NII3—6—34
* fE — 7 PENII2TH4%E1 O 80, 500 83,000 |A 3.0
BEHE — 8 AT 1 9% 1 44+ 48, 600 53,300 |A 8.8
BEE - 9 FAERMTAFR25 1 6 & 24+ 26, 900 29,500 |A 8.8
P — 10 TR T17%29 68, 400 69,500 |A 1.6
P — 11| B®EH NEEHTRAEL 9 3% 1 77, 000 — —
BEHE — 12 KFEHT1 THG6%EL 24 72, 800 75,000 (A 2.9| K1 —6—10
BErE —13 ININTFARERE 2 8 8 8%/ 24 68, 700 71,200 |A 3.5| (BB 5 47X 441)
BEHE — 14 FRFHOOUFE138%85 43,100 44,800 |A 3.8
Bert — 15|MEH 10 — I[3RATHEIOM411%F21 50, 700 52,300 |A 3.1
BEHE — 16| BEr 10 — 2| HFAMEIlL1 4 2% 7 51, 200 52,800 |A 3.0
Bert — 17[JEH 10 — 3| NI TH 75 4 %5 38, 500 40,000 |A 3.8
Bert 5— 1 AETIRAHME 1 3 0 &S+ 82, 000 84,400 |A 2.8| (FFE1 8 0HIX 641
JEER 5 — 2 BRIL2 TH1 1%4 81, 000 84,000 |A 3.6)5dk2—11—19
BErE 5— 3 PE/IISTH1ES 94, 500 98,000 |A 3.6
BErE 9 — 1|kEH 7T— 1|4 TH11%18 74, 800 76,300 (A 2.0
BErE 9 — 2|kEH 7T — 2/FAHPY TR 2 7 2 6% 6 54k 26, 000 28,200 |A 7.8
* H5)1| — 1 FR3ITHS1%E 71, 200 71,700 (A 0.7
I — 2 KIFFHR26 8 9FK 14+ 26, 200 27,200 |A 3.7
211 — 3B H2TH108% 80, 500 — — |f2—8—14
# — 4 rE2TH12%1 4 68, 400 68, 400 0.0
Bh)1 — 5 THEATHE /W21 90%K49 43, 700 44,100 |A 0.9
# — 6 FHTRIES 9 231 26, 000 27,300 |A 4.8
# — 7 PR THIR2 5 2% 9 26, 800 28,600 |A 6.3
£ 5— 1 HERET 5% 8 79, 300 80,800 |A 1.9
211 5— 2 FR2THSE9 112, 000 113,000 |A 0.9
I 5— 3 BAET—%/IT1426%5 33, 200 35,400 |A 6.2
£)11 5— 4 YRAHT 2 4 3% 63, 700 64,200 |A 0.8
JEREE — 1 KFE2THI184%FS54 57, 500 58,300 |A 1.4/ KF2—-8—10
JEREE — 2 JERFE17%9 9 61, 500 62,600 |A 1.8|JEAET1 9—18
JEREE — 3 B3 THG6®%1 93, 400 93, 400 0.0|fE3—6—20
JEREE — 4 HIEN1THG6 4%S5 1 70, 000 70,500 (A 0.7[FHEIM T —-11—3
JEREE — 5 HFETMEE46 1%25 76, 000 76,500 |A 0.7
E253 — 6 WH3THO944%76 71, 400 72,500 |A L5|MAH 3 —6—2
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s | s ; 12 Had CVEEIEL s
H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (F/nd) (%)
JEREE — 7 R EBRT R AR 1 6 6 0F 1 3 46, 000 47,200 |A 2.5
JEREE — 8 HE3TH464%14 73, 800 74,000 |A 0.3|HHE3—9—17
ok -9 EH3TH16%S 73, 600 73, 600 0.0|EM3—16—13
* JERAR — 10 INE)IET2 THS 1 8% 64+ 78, 300 78, 300 0.0/NGE)IET2 —4—2 3
JEREE — 11 BT =6 A1 505%F 10 49, 000 50,000 |A 2.0
JEREE — 12 JEMI S TH 7 47 54, 500 55,300 |A 1.4k 3 —22—4
JEREE — 13 BRI 52 TH14%S5 81, 100 81,400 |A 0.4|BE[H2—14—6
JEREE — 14 EPET2TH129%1 24+ 56, 800 58,000 |A 2. 1[FJMT2—-9—17
JEREE — 15 KEHT1TH100%7 57, 500 58,500 |A 1.7|KEH1—9—4
JEREE — 16 FEETNATHM 9 7 7% 54+ 56, 000 57,200 |A 2.1
JEREE — 17| 10 — 1| fEETHm 4 7 5% 14 36, 000 37,000 |A 2.7
JEREE — 18| 10 — 2/t FEkE227%55 28, 000 29,000 |A 3.4
JEREE — 19|k 10— 3[EFP2THLI1%ES 54, 500 55,000 |A 0.9|ET2—2—4
JEREE — 20[BER; 10 — 4|RHT37%&27 52, 000 52,300 |A 0.6
JEREE — 21 |BER: 10 — 5|[ESAT =fy i 11 2 6% 54+ 40, 600 41,500 |A 2.2
JEREE 5 — 1 BREi2 TH7#%3 5 138, 000 140,000 |A 1. 4|BRAf2 —7—2 7
JEREE 5— 2 ABT2TH1129%2 60, 900 63,500 |A 4. 1[AKFT2 -7 —1
JEREE 5— 3 INEJETTTHT7 2232 97, 000 98,000 |A 1.O[/NAJIBTT —6—1 3
JEREE 5— 4 B 2 TH1%&84 139, 000 140,000 |A 0.7|ffE2—1—4
JEREE 9 — 1|jEkL 7— 1|EBI1ITH520%3 47, 000 47,700 |A L5[@EMIT—18—21
* fHE -1 HETEHN 189 2% 1 24+ 97, 500 97, 000 0.5
(e — 2 PE A 3 0 3% 74k 67, 300 67, 300 0.0
TR — 3@ HETRE165%K9 76, 100 — —
TR — 4 JIEMTEE2 3 8%20 68, 400 68, 400 0.0
S - 5 WHF2TH26 3% 85, 000 85, 000 0.0/ RA#H2—-19—5
iz — 6 G FIRMm 9 6 4% 6 3 73, 000 73, 000 0.0
S — 7 HRHEPTEEE 4 8 2% 9 68, 800 68, 800 0.0
S — 8 FILTETFRG6 1 2%S5 59, 100 59,500 |A 0.7
GilEzZ — 9| 10 — 1| TAHIES 40% 1 8 46, 800 47,300 |A 1.1
S — 10|#ES 10 — 2| 5EM1353%&20 52, 700 53,500 |A 1.5
S — 11|05 10 — 3| FAK 38 9% 9 43, 300 43,800 |A 1.1
S — 12/ 10 — 4|FEHTRTHIH1 00 6K 9 55, 400 56,100 |A 1.2
MY 5 — 1 e EE/ H1980%11 135, 000 137,000 |A 1.5
Mgy 5 — 2 FHIFTHES 0 7% 14+ 111, 000 112,000 |A 0.9
MYy 5 — 3[BT WHF1TH168%F1 148, 000 — — [EHP1—-18—15
s — 1 FEWT1 TH9%ES 59, 300 59,600 |A 0.5
e Tan — 2 KRBT 7% 1 9 50, 100 50, 100 0.0
s — 3 JUHF/MEaE1173%&10 55, 000 55,200 (A 0.4
48 — 4 WHRFRE S 1 8% 14+ 23, 200 25,000 |A 7.2
48 — 5 MillFHB2391%&K1 7 35, 000 36,900 |A 5.1
89t 5— 1 FERT3EL 1 91, 000 91,800 |A 0.9
89t 5— 2 JHET2 TH 1% 8 72, 300 72,500 (A 0.3
M — 1 ZTH748% 61, 300 63,900 |A 4. 1|=TH14—11
TH — 2 HH10%F12 64, 400 65,700 |A 2.0 10—12
T H - 3 HEFTIHIR24 7ET 46, 800 48,200 |A 2.9
M 5— 1 TTH54 7% 80, 000 83,300 |A 4.0/ “TH11—19
TH 5— 2 FEAM T THIE?2 71, 500 74,100 |A 3.5[FARM1 —9—2
kg -1 RMTFEURS 47K 4 102, 000 100, 000 2.0
R — 2 U RTEE11%ET7 94, 000 93, 000 1.1
kg - 3 A TARH406%1 54+ 88, 000 87, 300 0.8
ik — 4 T THY 943%K7 98, 300 97, 600 0.7
biEog - 5 RMFHFI2 6 9% 3 115, 000 115, 000 0.0
R — 6 TRERPAE2THIELO 48, 800 50,000 (A 2.4
itEsg — 7 AT F/ M6 3%9 79, 100 79, 100 0.0
ittsg — 8|¥Ely 10 — 1T 26 7&7 27,900 28,400 |A 1.8
Fiziog — 9|HEuy 10 — 2|5HFHHEM3 7%1 7 44, 900 46,000 |A 2.4
AR — 10[#5%F 10 — 3[AXATHIE42 7% 1 4 68, 300 68,500 |A 0.3
R 5— 1 AT R4 3653 129, 000 129, 000 0.0
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H25 H24 PO IEES —
HOSAEES | AIEES A - arig | woriigs |EmE HEEET
(/i) (M/m) | (%) 7
itEsg 9 — 1 TRETFHM 7 3% 34 53, 300 53,800 |A 0.9
itEsg 9— 2 SHETHM347%18 35, 600 36,000 |A 1.1
i) — 1 BEEy)I301 0% 61, 200 64,800 |A 5.6
o] — 2 B/ )1 04 0% 140 70, 000 70,800 |A 1.1
e — 3 BREG2 TH280 3% 77, 900 77, 900 0.0[BRpg2—13—3
i) — 4 B4TH1116%155 60, 800 61,300 |A 0.8|fliB4—7—55
i) — 5 BT H%E336%28 66, 000 68,100 |A 3.1
i) — 6 FEBT R 2 TAHEDL S 1 0 6 6 % 8 57, 500 59,000 (A 2.5
i) — 7| 10 — 3|FEIHE TGN 2 4 4 93K 24+ 32,900 36,400 |A 9.6
i) — 8 FERTNILTHR A 366FT79 48, 000 48,500 (A 1.0
i) — ol 10— (LA FFRE56 7%16 51, 700 52,800 |A 2.1
i) — 10|7975 10 — 2[FIRFT# 459 5% 3 44, 000 44,900 |A 2.0
WAE 5— 1 BHTRAES 33 4% 94, 900 97,300 |A 2.5| CBERIHIX 4 —7)
i) 5 — 2 HENT B E RPN S 35 4% 4 64, 500 67,500 (A 4.4
i) 5 — 3|EER R 2T HFIED3 99 2F 67, 800 — —
Fre — 1 AT KA1 2 1 43 72, 800 75,200 |A 3.2
ot — 2 NTBFFTFIIARE L 7&K 14 66, 700 68,900 |A 3.2
Ei= -3 EEFTEF 3 43 9% 1 60, 200 62,100 |A 3.1
Fre — 4| 10 — 1|AERTFRAEG6 O 273 62, 600 64,600 |A 3.1
e — 5| 10 — 2[R F7H 65 1%3 45, 100 46,600 (A 3.2
i 5— 1 EHEFFMHE S 2 5/K 3D 144+ 83, 800 86,200 (A 2.8
T FITIRY — 1 P ETRAGS555 7%/S5 4 31, 300 32,600 |A 4.0
T RITIRY — 2 T moEl ) #EE2 8 2 3% 1 26, 600 27,500 |A 3.3
T FITIRY - 3 BRI THEETER 1 1 6% 2 21, 900 22,500 |A 2.7
e 5 — 1 HEH TR RNEFE3 92 1% 1 34+ 39, 000 41,600 |A 6.3
25)11 — 1 AFrEFEFE1149%1 47, 200 48,000 |A 1.7
311 — 2 AFFTAM1 72 9% 48, 500 49,000 |A 1.0
311 — 3 TYENFEF 16 00FK2 2 29, 000 29,800 |A 2.7
2511 — 4 EfETE N3 77 1%S3 T 26, 500 27,300 |A 2.9
311 5— 1 FHTMEL 89 2% 1 66, 800 68,800 |A 2.9
FEOE  — 1 WETHHS3 6 6% 1 88, 600 89,200 |A 0.7
FEOE  — 2 EMTEHS8 38%3 78, 500 79,300 |A 1.0
FEoE - 3 EETHRLE29 1K 7 91, 700 92,000 |A 0.3
PEOE  — 4 FZT)\IERS50 9% 6 93, 800 94,000 |A 0.2
PFEOE  — 5 WHBT P R&ES 2 8% 1 04 85, 000 85,200 |A 0.2
PEOE  — 6 FRTIEG 8 5 8% 5 85, 200 85,700 |A 0.6
FEOE — 7®ER HHEFML 103%S8 8 62, 500 — —
FEoE  — 8 B TFFRET7 135 2 85, 100 85,400 |A 0.4
PFEOE — 9 RPN T522%6 71, 300 71,700 |A 0.6
HEoE — 10|/FEoE 10 — 1|z L3 6 4% 1 61, 500 62,700 |A 1.9
SraoE — 11|{FE0E 10 — 2[ELZHFTAEIRG 9 4%K 7 57, 000 58,200 |A 2.1
pEoE - 1R2(FEoE 10 — 3| mETIHS8 58%F2 0 59, 400 60,000 |A 1.0
FEOE 5 — 1 EMTHAM1078%22 99, 000 100, 000 |A 1.0
PEOE 5 — 2 KIECTFHE4 4 8% 8 94, 500 97,000 (A 2.6
oz J5 -1 KIRFIRAS529%2 9 40, 000 42,000 |A 4.8
oz J5 — 2 WEH T REE1 18 2% 1 3 19, 300 21,000 |A 8.1
Yoo i i b IR mEE1300%2 1 41, 000 — —
Bz Ji — 4 AT TR 3 13 9% 2 34, 000 36,000 |A 5.6
PozJd 65— 1 WiTH T 72 1% 14 51, 000 54,500 |A 6.4
Wzg 5 — 2 MLEhyYY 208 1%1 53, 000 56,000 (A 5.4
W — 1 R \E/M% 1 21 1% 1 48, 600 50, 700 |A 4.1
W — 2 HEFL /48 6%3 35, 700 36,800 |A 3.0
WPFE 5 — 1 FREFERT /A5 6 2% 1 24+ 82, 100 85,000 |A 3.4
AT -1 TR/ 1 373 49, 200 51,200 |A 3.9
AT — 2 GETHmMe 5 7% 7 34, 300 35,700 |A 3.9
AT 5— 1 mEEFE/M119%1 70, 600 73,500 (A 3.9
2 Eias — 1 T A4 05%1 0 28, 000 29,000 |A 3.4
2 E5as — 2 HHFEEHN1104%5 24, 600 25,500 |A 3.5
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D I ; 12 Had CVEEIEL s
H25FE Y13 = IR e FIF{E - H% /A\ﬂ‘ﬁﬁ% INTTAiikg | EER (Rt )
(/) (F/nd) (%)
MFE 5 — 1 TEMTFHEE26 0% 1 04+ 38, 800 40,000 |A 3.0
FAIRE 5— 1 IL&EFRH 2 4 2% 940 62, 600 66,500 |A 5.9
B -1 FRFTKYME6 35%&5 3 66, 700 67,500 (A 1.2
B - 2 THTEAEL1300%&S5 73, 500 74,300 |A 1.1
EFE] - 3 AT 2ZN1L5 1%6 96, 000 96, 000 0.0
B P — 4|EmE 10 — 1| FH7HEEY 80&F 1 0 59, 600 60,300 (A 1.2
EFE] — 5|/ 10 — 2[M=EFHIH4 6 9% 3 55, 700 56,600 |A 1.6
EFE] — 6|Hm 10 — 3[FHRFPE S 2 5 8% 1 20, 600 21,000 |A 1.9
BRITEAK  — 1 EATHR255 1%F2 102, 000 103,000 |A 1.0
BREIEAK — 2 REFTRK/MH261%S3 119, 000 119, 000 0.0
BEAEAK — 3 Gt 1 22%&1 5 101, 000 102,000 |A 1.0
BREIEK — 4 FiET—TH220%4 126, 000 126, 000 0.0
BREIEAK  — 5 i 725 % 9 8 8% 9 116, 000 116, 000 0.0
EiR -1 TR =M% 5 0 2% 5 119, 000 118, 000 0.8
EiR — 2 TRETIKFES38F1 7 106, 000 106, 000 0.0
EiR — 3@ ABETHRT4 2 659 123, 000 — —
EiR — 4 TAHFrFERYH1505%7 126, 000 125, 000 0.8
EiR - 5 THFTFRETS840%K26 130, 000 129, 000 0.8
EiR — 6|ER 10— 1| TREFEH1026%F1 2 80, 500 80, 500 0.0
frbE/ N — 1 BEHMTRET 80 9%S5 42, 000 42,500 |A 1.2
ErlE/N — 2 AT /IR300%E102 28, 200 29,000 |A 2.8
/ML — 3 MNZTEF/IAF1282% 38, 900 39,500 |A 1.5
FrlE/L — 4 NMUFZP 8 9% 8 9 49, 400 50,000 |A 1.2
ANl — BIERRA/NML 10 — 1|2 FEETES 17 1% 27, 000 28,000 |A 3.6
ERRE/NL — 6|ER /N 10 — 2| EBFEAATEG 1 0% 1 19, 400 20,000 |A 3.0
RN — 7[R 10 — 3|REIMTAFEE1 04 23%5 36, 100 37,300 |A 3.2
FrER S — 1 FEETFMT29%20 43, 000 44,600 |A 3.6
FriEER S — 2 JUWRFFE 3 0 4 3% 9 28, 600 31,200 |A 8.3
FiEmR 5 — 1 EETHM1386%6 53, 500 57,000 |A 6.1
FR I A% — 1 HTHER1726%4 39, 500 40,000 |A 1.3
FR I A% — 2 MR P HANREH206 9% 3 26, 700 27,000 |A 1.1
s 5 — 1 HTHHET3 5 1% 1 34, 400 35,300 |A 2.5
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